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1. (20%)) (a) An ac voltmeter uses a bridge rectifier with silicon diedes and a PMMC instrument with
FSD=75 uA. If the meter coil resistance is 900 £2 and the multiplier resistor is 708 k€2 caleulate the applied
rms voltage when the voltmeter indicates IS (b) Determine the new multiplier resistance reguired fur th
voltmeter 1o change its range to 300V FS0 (¢) Determine the pointer position on the voltmeter in problem
(b1 when the applicd rms voliage is (1) 30V and MRS
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(15%) Derive the expressions of the equivalent-parallel capacitance (C;) and resistance (Ry) ol the bridge al
null (shown above),  Find the values of O and R that causes the bridee w null with the following
component values: = 2.5 kblz, R =100 ki2, R, =23 kL2 Ky = kG Dy =02 pb
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1. (20%) There are two loops (Murray and Warley loops) used to measure the distance where shorl circuil
happens by applying the theory of the Wheatstone bridge. Deseribe how both loops functuon, and which loop
has more accuracy and why?

4. {10%) Prove the error percentage of quotient is equal 1o the summation of dividend's and divisor's error
percentages.

5. {10%) Describe the major characteristics of Similar Angle Bridge.
(10} Give two bridges that sausfy the major characteristics of Similar Angle Brdge,
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